
Universität des Saarlandes
Christian Bender
Christoph Eisinger

14. Dezember 2011

Zinsmarktmodelle

8. Übungsblatt

Zeigen Sie, dass im Vasicek-Modell folgende Aussagen gelten:

Aufgabe 1. (3 + 4 = 7 Punkte)

a)
∫ t
s
r(u) du = r(s)b(s, t)− ϑb(s, t) + ϑ(t− s) + η

∫ t
s
b(u, t) dW̃ (u), wobei

b(s, t) := 1
k

(
1− e−k(t−s)

)
.

b) LawQ
(∫ t

s
r(u) du− EQ

[∫ t
s
r(u) du

∣∣∣Fs]∣∣∣Fs)
= N

(
0, η2

(
1
k2 b(s, t) + 1

k2 (t− s)− 1
2k
b(s, t)2

))
.

Aufgabe 2. (3 + 4 = 7 Punkte)

a) B(t, T ) = EQ
[
e−

R T
t r(u) du

∣∣∣Ft] = a(t, T )e−b(t,T )r(t), wobei

a(t, T ) := exp
{

(ϑ− η2

2k2 )(b(t, T )− T + t)− η2

4k
b(t, T )2

}
.

b) M(t, T ) := EQ
[
e−

R T
0 r(u) du

∣∣∣Ft]
= B(0, T ) exp

{
−η
∫ t

0
b(u, t) dW̃ (u)− 1

2
η2
∫ t

0
b(u, t)2 du

}
.
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